Practice 20

Polynomial and Rational Inequalities

Solve the polynomial inequality and graph the solution set on a number line. Express the solution set in interval
notation.

1 (x-2)(x+9)>0 1)
2) (x+3)(x-5)=0 2)
3)x2-4x+3>0 3)
4) x2 - 2x-35<0 4)
5) x2-3x-10<0 5)
6) X2 +5x =0 6)
7)x3+5x2—x—5>0 7

Solve the rational inequality and graph the solution set on a real number line. Express the solution set in interval
notation.

X-5

8) +3<0 8)
x-1

9)x+6>0 9)
-X+5

10) 1 =0 10)
(x+10)(x - 4)

11)—)(_1 =0 11)




12) K-1B-x <0 12)

(x - 2)2

Solve the polynomial inequality and graph the solution set on a number line. Express the solution set in interval
notation.

13) (x+ 7)(x + 6)(x - 1) >0 13)
14) (x+2)(x-1)(x-4)<0 14)
15) (4x - 3)(x + 4) <0 15)




Answer Key
Testname: 20_ POLYNOMIAL AND RATIONAL INEQUALITIES
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1098765432101 2345678910
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Answer Key
Testname: 20_ POLYNOMIAL AND RATIONAL INEQUALITIES

14) (-, -2) u(1,4)
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